
   
 

 

 :التورين الأول

1  

     A 76,25 132 8 3,5           B 8,6 [2 19 11    10]   

2 

      

     

     

15 9 5 15 ... 15 ...

(24 11) 8 ... 8 ... ...

2,5 12 2,5 20 ... (... ...)

3 C 

            
       C 9 10 6 2,5 16 12

      

 :التورين الثاني

1900 DA1200 DA 90,5 DA 

 520 DA

1 
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 :التورين الثالث

1 

 [Ax) 

 C [Ax)AC=2,5cm 

 (Δ) [Ax)C 

2 D [Ax)(Δ)[AD] 

3 AD 

4 A5cm (Δ)M 

5 MA=MDAMD 

6 MADMC K 

7  K(AM)C’ 

8 KCKC’

9 KC=KC’

11 AMCMDx
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